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Puzzle Questions for SBI Clerk, IBPS Clerk, SBI 
PO Pre, IBPS PO Pre and IBPS SO Pre exams 

PUZZLE TEST QUIZ 74 

Directions: Study the following information carefully and answer the 

questions given below:   

Eight persons – Sheela, Parth, Kapil, Munni, Rihan, Arnav, Balam and Nupur, 

had their Indian Idol audition on different dates of November – 5, 6, 7, 10, 

11, 15, 17 and 19, but not necessarily in the same order. The audition of 

each of the person was in different cities – Pune, Goa, Indore, Surat, Agra, 

Bhopal, Noida and Ajmer, but not necessarily in the same order. 

The person, whose audition was in Surat, gave the audition at the gap of 2 

turns from Kapil. 

Rihan’s audition was on the date that was not a prime number. 

Rihan and the one whose audition was in Bhopal gave their auditions at a 

gap of 4 turns. 

The person whose audition was in Pune gave the audition after 3 turns 

from Balam. 

Balam and Munni gave their auditions on the consecutive turns. 

Nupur’s audition was in Indore. 

The one, whose audition was on 5th November, gave the audition in Noida. 

Sheela gave the audition 2 turns after the one whose audition was in Goa. 

Number of persons gave their audition between Sheela and Arnav was 

equal to the number of persons gave their audition after the one, whose 

audition was in Ajmer. 

Kapil gave the audition after the one whose audition was in Bhopal. 



 

 

Not more than three persons had their auditions after Arnav. 

 

QUESTIONS: 

1. Who among the following persons gave the audition in Agra? 

A. Munni   B. Arnav   C. Rihan 

D. Sheela   E. None of these 

2. Among which of the following cities does Parth gave the 

audition? 

A. Bhopal   B. Noida   C. Agra 

D. Goa   E. None of these 

3. How many person(s) give the auditions between Nupur and 

Arnav? 

A. None   B. One   C. Two 

D. Three   E. More than three 

4. Which of the following combinations is/are correct? 

A. 5th Nov – Rihan – Noida  B. 10th Nov – Balam – Surat 

C. 17th Nov – Arnav – Bhopal  D. 7th Nov – Nupur – Ajmer 

E. 11th Nov – Sheela – Agra 

5. How many person(s) gave their auditions after one who gives 

the audition in Surat? 

A. None   B. One   C. Two 

D. Three   E. More than three 



 

 

Correct answers: 

1 2 3 4 5 

D B D C D 

 
Common explanations: 

Reference: 

Eight persons – Sheela, Parth, Kapil, Munni, Rihan, Arnav, Balam and Nupur, 
have their Indian Idol auditions on different dates of November – 5, 6, 7, 
10, 11, 15, 17 and 19, but not necessarily in the same order. The audition of 
each of the person was in different cities – Pune, Goa, Indore, Surat, Agra, 
Bhopal, Noida and Ajmer, but not necessarily in the same order. 

Inference: 

We will keep this information in mind while solving the puzzle. 

Reference: 

The one, whose audition was on 5th November, gave the audition in 
Noida.Rihan’s audition was on the date that was not a prime number. 
Rihan and the one whose audition was in Bhopal gave their auditions at a 
gap of 4 turns. 

Inference:  

After using the above hints, we have: 

Date Person City 

5th Nov   Noida 

6th Nov Rihan   

7th Nov     

10th Nov     

11th Nov     

15th Nov     

17th Nov   Bhopal 

19th Nov     

 



 

 

Reference: 
 
Balam and Munni gave their auditions on the consecutive turns. 
The person whose audition was in Pune gives the audition 3 turns after 
Balam. 
 
Inference: 
  
Here we have three possible scenarios in which above hints can be used 
accordingly. 
  

Case 1: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov Balam 
 

10th Nov Munni 
 

11th Nov 
  

15th Nov 
 

Pune 

17th Nov 
 

Bhopal 

19th Nov 
  
 

Case 2: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov 
  

10th Nov Munni 
 

11th Nov Balam 
 

15th Nov 
  

17th Nov 
 

Bhopal 

19th Nov 
 

Pune 

 
 
 



 

 

Case 3: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov 
  

10th Nov 
  

11th Nov Balam 
 

15th Nov Munni 
 

17th Nov 
 

Bhopal 

19th Nov 
 

Pune 

  
Reference: 
 
Kapil gave the audition after the one whose audition was in Bhopal. 
The person, whose audition was in Surat, gives the audition at the gap of 2 
turns from Kapil. 
 
Inference: 
 
After using the above hints, we have: 

 
Case 1: 

 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov Balam 
 

10th Nov Munni 
 

11th Nov 
 

Surat 

15th Nov 
 

Pune 

17th Nov 
 

Bhopal 

19th Nov Kapil   

 
 
 
 



 

 

Case 2: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov 
  

10th Nov Munni 
 

11th Nov Balam Surat 

15th Nov 
  

17th Nov 
 

Bhopal 

19th Nov Kapil Pune 

 
Case 3: 

 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan 
 

7th Nov 
  

10th Nov 
  

11th Nov Balam Surat 

15th Nov Munni 
 

17th Nov 
 

Bhopal 

19th Nov Kapil Pune 

  
Reference: 
 
Sheela gives the audition 2 turns after the one whose audition was in Goa. 
Nupur’s audition was in Indore. 
 
Inference: 
 
At this point, we cannot use the above hints in case 1 and case 2 
accordingly. So, we can say that case 1 and case 2 are invalid cases. 
  

 
 
 



 

 

Case 3: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan Goa 

7th Nov Nupur Indore 

10th Nov Sheela 
 

11th Nov Balam Surat 

15th Nov Munni 
 

17th Nov 
 

Bhopal 

19th Nov Kapil Pune 

  
Reference: 
 
Not more than three persons have their auditions after Arnav. 
Number of persons gave their audition between Sheela and Arnav was 
equal to the number of persons gave their audition after the one, whose 
audition was in Ajmer. 
 
Inference: 
 
After using the above hints, we have: 
 
Case 3: 
 

Date Person City 

5th Nov 
 

Noida 

6th Nov Rihan Goa 

7th Nov Nupur Indore 

10th Nov Sheela 
 

11th Nov Balam Surat 

15th Nov Munni Ajmer 

17th Nov Arnav Bhopal 

19th Nov Kapil Pune 

  
At this point we can say that Parth’s audition was on 5th November and 
Sheela’s Audition was in Agra. 



 

 

Case 3: 
 

Date Person City 

5th Nov Parth Noida 

6th Nov Rihan Goa 

7th Nov Nupur Indore 

10th Nov Sheela Agra 

11th Nov Balam Surat 

15th Nov Munni Ajmer 

17th Nov Arnav Bhopal 

19th Nov Kapil Pune 

 

Explanations: 

1. 

Following the final solution, we can say that Sheela gave the audition in 

Agra. 

Hence, the correct answer is option D. 

2. 

Following the final solution, we can say that Parth gave the audition in 

Noida. 

Hence, the correct answer is option B. 

3. 

Following the final solution, we can say that three persons give the 

auditions between Nupur and Arnav. 

Hence, the correct answer is option E. 

 

 



 

 

4. 

Following the final solution, we can say that 17th Nov – Arnav – Bhopal is 

the correct combination. 

Hence, the correct answer is option C. 

5. 

Following the final solution, we can say that three persons gave their 

auditions after one who gives the audition in Surat. 

Hence, the correct answer is option D. 
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